Flower Shop
Name
:_____________________________

Date
:_____________________________

Period
:_____________________________

Floral Arrangements for Maximum Profits

A local florist is making two types of floral arrangements for Thanksgiving: regular and special.  Each regular arrangement requires 3 mums, 3 daisies, and 2 roses, and each special arrangement requires 4 mums, 2 daisies, and 4 roses.  The florist has set aside 60 mums, 54 daises, and 52 roses for the two types of arrangements.

1.
Let x represent the number of regular arrangements, and let y represent the number of special arrangements.  Write a system of three equations represent the florist’s situation.

_______________________________________

_______________________________________

_______________________________________

2.
The florist will make a profit of $2 on each regular arrangement and $3 on each special arrangement.

a. Write a function for the profit.

_______________________________________

b. Create a system of inequalities to represent the constraints.  

_______________________________________

_______________________________________

_______________________________________

c. Graph the feasible region.  (Do not forget to label the axis.)
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d. Identify the intersection the lines.

______________________________________

______________________________________

e. How many of each type of arrangements should the florist make in order to maximize the profit?  

_______________________________________

f. What is the maximum profit?

_______________________________________

g. If the maximum profit is achieved, will there be any flowers left over?  Explain.

____________________________________________________________

____________________________________________________________

____________________________________________________________

____________________________________________________________

